A Note on non-Newtonian Isometry

OGUZ OGUR, ZEKIYE GUNES Department of Mathematics, Giresun University, Giresun-Gure, TURKEY

Abstract: In this article, we introduce non-Newtonian isometry and examine some of its basic properties. We also give a characterization of the relationship between real isometry and non-Newtonian isometry. Finally, we show that the ν -measure of ν -measurable sets is invariant for every generator under ν -isometries.

Key-Words: Non-Newtonian calculus, geometric calculus, isometry, ν -isometry, measure, ν -measure, ν -inner measure, ν -outer measure

Received: March 22, 2023. Revised: October 23, 2023. Accepted: November 21, 2023. Published: February 6, 2024.

1 Introduction

Non-Newtonian calculus, which is used in many fields such as engineering, mathematics, finance, economics, medicine and biomedicine, was developed between 1967 and 1970 as an alternative to the classical analysis of Newton and Leibnitz, [1, 2]. The book 'Non-Newtonian Calculus', which forms the basis of non-Newtonian calculus, was published in 1972, [3]. The derivative and integral were investigated in the metacalculus, [4]. Geometric calculus and their applications were investigated in [5]. Some basic topological properties of the real non-Newtonian axis were investigated in [6]. The non-Newtonian Lebesgue measure for non-Newtonian open sets was defined in [7]. Finally, the non-Newtonian measure for closed non-Newtonian sets was defined and some related theorems were given in [8]. For more details see, [9],[10],[11],[12],[13],[14],[15],[16],[17],[18],[19], [20].

Let ν be a generator, which means that ν is a bijection function from \mathbb{R} to a subset \mathbb{A} of \mathbb{R} . Let $\dot{p}, \dot{q} \in A$. Then the ν - arithmetic is defined as follows;

$$\begin{array}{ll} \nu-\textit{addition} & \dot{p}\dot{+}\dot{q} = \nu\{\nu^{-1}(\dot{p}) + \nu^{-1}(\dot{q})\}\\ \nu-\textit{subtraction} & \dot{p}\dot{-}\dot{q} = \nu\{\nu^{-1}(\dot{p}) - \nu^{-1}(\dot{q})\}\\ \nu-\textit{multiplicative} & \dot{p}\dot{\times}\dot{q} = \nu\{\nu^{-1}(\dot{p}) \times \nu^{-1}(\dot{q})\}\\ \nu-\textit{division} & \dot{p}/\dot{q} = \nu\{\nu^{-1}(\dot{p})/\nu^{-1}(\dot{q})\}\\ (\nu^{-1}(\dot{q}) \neq 0) & \\ \nu-\textit{order} & \dot{p}\dot{\leq}\dot{q} \Leftrightarrow \nu^{-1}(\dot{p}) \leq \nu^{-1}(\dot{q}) \end{array}$$

The set of ν -integers is

$$\mathbb{Z}_{\nu} = \mathbb{Z}(N) = \dots, \nu(-1), \nu(0), \nu(1), \dots$$

The set $\mathbb{R}_{\nu} = \mathbb{R}(N) = \{\nu(a) : a \in \mathbb{R}\}$ is called the set of non-Newtonian real numbers.

The absolute value of non-Newtonian number $\dot{a} \in A \subset \mathbb{R}_{\nu}$ is denoted by $|\dot{a}|_N$ and define as follows;

$$|\dot{a}|_{\nu} = \begin{cases} \dot{a} & , \dot{a} \succ \nu(0) \\ \nu(0) & , \dot{a} = \nu(0) \\ \nu(0) - \dot{a} & , \dot{a} \lt \nu(0) \end{cases}$$

Accordingly,

$$\sqrt{\dot{a}^{2_N}}^N = |\dot{a}|_N = \nu \left\{ |\nu^{-1}(\dot{a})| \right\}$$

is written for each \dot{u} in the set $A \subset \mathbb{R}_{\nu}$, [21].

Definition 1. The non-Newtonian outer measure of a non-empty ν -bounded set K is the greatest lower bound of the measures of all ν -bounded, ν -open sets containing the set K. So it is defined by

$$m_N^*K =^{\nu} \inf_{K \subset G} \{m_N G\}$$

[22].

Definition 2. The non-Newtonian interior measure of a nonempty ν -bounded set K is the smallest upper bound on the measures of all ν -closed sets contained in the set K. So it is defined by

$$m_{*N}K =^{\nu} \sup_{F \subset K} \left\{ m_N F \right\},$$

[22].

Theorem 1. Given a ν -bounded set K. If Δ is a ν -open set containing the set K, then we have the following equation;

$$m_N^* K \dot{+} m_{*N} \left[C_\Delta^K \right] = m_N \Delta,$$

[22].

Definition 3. If the non-Newtonian inner and outer measure of a ν --bounded set K are equal, the set K is called a non-Newtonian Lebesgue-measurable set or simply the ν --measurable set, [22].

Theorem 2. If the set K is the ν -measurable set in \mathbb{R}_{ν} , then $\nu^{-1}(K)$ is the measurable set in \mathbb{R} , [22].

Theorem 3. Given a ν -bounded set E. If the set E can be written as a combination of finite or countably infinite sets of pairwise disjoint ν -measurable sets E_k , then E is ν -measurable and

$$m_N E =_{\nu} \sum_k m_N E_k$$

equality is fulfilled, [23].

2 Main Results

In this section, we introduce non-Newtonian isometry and examine some of its basic properties. We also give a characterization of the relationship between real isometry and non-Newtonian isometry. Finally, we show that the ν -measure of ν -measurable sets is invariant for every generator under ν -isometries.

Definition 4. Let $\varphi_{\nu} : \mathbb{R}_{\nu} \to \mathbb{R}_{\nu}$ be a function such that

$$|\varphi_{\nu}(x) \dot{-} \varphi_{\nu}(y)|_{N} = |x \dot{-} y|_{N}$$

for every $x, y \in \mathbb{R}_{\nu}$, then the function φ_{ν} is called a non-Newtonian isometry or ν -isometry.

Example 1. Let $\varphi_{\nu} : \mathbb{R}_{\nu} \to \mathbb{R}^+(N)$ be a ν -isometry and let the generator ν be the function exp. Hence, we have

$$\begin{split} \left|\varphi_{\nu}(x)\dot{-}\varphi_{\nu}(y)\right|_{N} &= \nu\left\{\left|\nu^{-1}(\varphi_{\nu}(x)) - \nu^{-1}(\varphi_{\nu}(y))\right|\right\}\\ &= \exp\left\{\left|\ln(\varphi_{\nu}(x)) - \ln(\varphi_{\nu}(y))\right|\right\}\\ &= \exp\left\{\left|\ln\frac{\varphi_{\nu}(x)}{\varphi_{\nu}(y)}\right|\right\}. \end{split}$$

Also, we can write that

$$\begin{split} \left| \dot{x-y} \right|_N &= \nu \left\{ \left| \nu^{-1}(x) - \nu^{-1}(y) \right| \right\} \\ &= \exp \left\{ \left| \ln(x) - \ln(y) \right| \right\} \\ &= \exp \left\{ \left| \ln \frac{x}{y} \right| \right\}. \end{split}$$

Thus, we get

$$\exp\left\{\left|\ln\frac{\varphi_{\nu}(x)}{\varphi_{\nu}(y)}\right|\right\} = \exp\left\{\left|\ln\frac{x}{y}\right|\right\}$$

and so

$$\left|\ln\frac{\varphi_{\nu}(x)}{\varphi_{\nu}(y)}\right| = \left|\ln\frac{x}{y}\right|.$$

Theorem 4. Let $\nu : A \subseteq \mathbb{R} \to \mathbb{R}_{\nu}$ be the generator function and let $\varphi_{\nu} : \mathbb{R}_{\nu} \to \mathbb{R}_{\nu}$ be a non-Newtonian function. If φ_{ν} is an ν - isometry, then the function $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is an isometry in $A \subseteq \mathbb{R}$.

Proof. Since the function φ_{ν} is an ν -isometry, we have

$$\varphi_{\nu}(x)\dot{-}\varphi_{\nu}(y)\big|_{N} = \big|\dot{x-y}\big|_{N}.$$

Thus, we write

$$\nu \left\{ \left| \nu^{-1}(\varphi_{\nu}(x)) - \nu^{-1}(\varphi_{\nu}(y)) \right| \right\} \\ = \nu \left\{ \left| \nu^{-1}(x) - \nu^{-1}(y) \right| \right\}$$

and

$$\left|\nu^{-1}(\varphi_{\nu}(x)) - \nu^{-1}(\varphi_{\nu}(y))\right| = \left|\nu^{-1}(x) - \nu^{-1}(y)\right|.$$

This gives

$$\left| \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu \right) \nu^{-1}(x) - \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu \right) \nu^{-1}(y) \right|$$

= $\left| \nu^{-1}(x) - \nu^{-1}(y) \right|$

which completes the proof.

Theorem 5. Let φ_{ν} be a ν -isometry. Then, we have the following properties;

a) If
$$A \subset B$$
, then $\varphi_{\nu}(A) \subset \varphi_{\nu}(B)$,
b) $\varphi_{\nu}\left(\bigcup_{k} E_{k}\right) = \bigcup_{k} \varphi_{\nu}(E_{k})$,
c) $\varphi_{\nu}\left(\bigcap_{k} E_{k}\right) = \bigcap_{k} \varphi_{\nu}(E_{k})$.

d) If E_0 is an empty set, then $\varphi_{\nu}(E_0) = E_0$.

Proof. Since φ_{ν} is a ν -isometry then $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is an isometry.

a) If $A \subset B$, then $\nu^{-1}(A) \subset \nu^{-1}(B)$. Thus, we have

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}(A)\right) \subset \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}(B)\right) \Rightarrow \left(\nu^{-1} \circ \varphi_{\nu}\right) (A) \subset \left(\nu^{-1} \circ \varphi_{\nu}\right) (B) \Rightarrow \varphi_{\nu}(A) \subset \varphi_{\nu}(B).$$

b) Since
$$\nu^{-1}\left(\bigcup_{k} E_{k}\right) = \bigcup_{k} \nu^{-1}(E_{k})$$
, then we get

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}\left(\bigcup_{k} E_{k}\right)\right)$$

$$= \bigcup_{k} \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}(E_{k})\right)$$

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu}\right) \left(\bigcup_{k} E_{k}\right) = \bigcup_{k} \left(\nu^{-1} \circ \varphi_{\nu}\right) (E_{k})$$

$$\Rightarrow \nu^{-1} \left(\varphi_{\nu} \left(\bigcup_{k} E_{k}\right)\right) = \nu^{-1} \left(\bigcup_{k} \varphi_{\nu}(E_{k})\right)$$

$$\Rightarrow \varphi_{\nu} \left(\bigcup_{k} E_{k}\right) = \bigcup_{k} \varphi_{\nu}(E_{k}).$$

c) Since $\nu^{-1}\left(\bigcap_{k} E_{k}\right) = \bigcap_{k} \nu^{-1}(E_{k})$ and $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is an isometry, we have

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1} \left(\bigcap_{k} E_{k}\right)\right)$$
$$= \bigcap_{k} \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}(E_{k})\right)$$
$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu}\right) \left(\bigcap_{k} E_{k}\right) = \bigcap_{k} \left(\nu^{-1} \circ \varphi_{\nu}\right) (E_{k})$$
$$\Rightarrow \nu^{-1} \left(\varphi_{\nu} \left(\bigcap_{k} E_{k}\right)\right) = \nu^{-1} \left(\bigcap_{k} \varphi_{\nu}(E_{k})\right)$$
$$\Rightarrow \varphi_{\nu} \left(\bigcap_{k} E_{k}\right) = \bigcap_{k} \varphi_{\nu}(E_{k}).$$

d) Since $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is an isometry, we get

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) (E_0) = E_0$$
$$\Rightarrow \varphi_{\nu} \left(\nu(E_0)\right) = \nu(E_0)$$
$$\Rightarrow \varphi_{\nu}(E_0) = E_0.$$

Example 2. Consider the geometric arithmetic generated by the function $\nu(x) = e^x$. If φ_{ν} is a ν -isometry for $x, c \in \mathbb{R}^+$, then either

$$\varphi_{\nu}(x) = x \dot{+} c = x.c$$

or

$$\varphi_{\nu}(x) = c \dot{-} x = \frac{c}{x} \; .$$

Proof. Let $\varphi_{\nu}(1) = c$. Then for every x,

• If
$$\varphi_{\nu}(x) = x.c$$
 then
 $|\varphi_{\nu}(x) - \varphi_{\nu}(1)|_{N} = |x.c - c|_{N}$
 $= |\nu \{\nu^{-1}(x.c) - \nu^{-1}(c)\}|_{N}$
 $= |\exp \{\ln x\}|_{N}$
 $= |\exp \{\ln x - \ln 1\}|_{N}$
 $= |x - 1|_{N}$

and

• If
$$\varphi_{\nu}(x) = \frac{c}{x}$$
 then we have

$$\begin{aligned} |\varphi_{\nu}(x)\dot{-}\varphi_{\nu}(1)|_{N} &= \left|\frac{c}{x}\dot{-}c\right|_{N} \\ &= \left|\nu\left\{\nu^{-1}\left(\frac{c}{x}\right) - \nu^{-1}(c)\right\}\right|_{N} \\ &= \left|\exp\left\{\ln\frac{1}{x}\right\}\right|_{N} \\ &= |\exp\left\{\ln 1 - \ln x\right\}|_{N} \\ &= |\exp\left\{\ln x - \ln 1\right\}|_{N} \\ &= |x\dot{-}1|_{N}. \end{aligned}$$

Let define the following function;

$$\varphi_{\nu}(x) = x^{(-1)^{\sigma(x)}} c \quad [\sigma(x) = 0, 1].$$

Let take x and y such that $x \neq 1, y \neq 1$ and $x \neq y$. Thus, we have

$$\begin{split} \varphi_{\nu}(x) \dot{-} \varphi_{\nu}(y) &= x^{(-1)^{\sigma(x)}} . c \dot{-} y^{(-1)^{\sigma(y)}} . c \\ &= \nu \left\{ \nu^{-1} \left(x^{(-1)^{\sigma(x)}} . c \right) - \nu^{-1} \left(y^{(-1)^{\sigma(y)}} . c \right) \right\} \\ &= \exp \left\{ \ln \left(x^{(-1)^{\sigma(x)}} . c \right) - \ln \left(y^{(-1)^{\sigma(y)}} . c \right) \right\} \\ &= \exp \left\{ \ln \frac{x^{(-1)^{\sigma(x)}}}{y^{(-1)^{\sigma(y)}}} \right\} \\ &= \frac{x^{(-1)^{\sigma(x)}}}{y^{(-1)^{\sigma(y)}}} \\ &= \left(\frac{x}{y^p} \right)^{(-1)^{\sigma(x)}} \end{split}$$

Here, since $p = (-1)^{\sigma(y) - \sigma(x)}$, p = -1or1. By the last equality, we get

$$\left| \left(\frac{x}{y^p} \right)^{(-1)^{\sigma(x)}} \right|_N = |x - y|_N$$

and

$$\exp\left\{ \left| \ln\left(\frac{x}{y^p}\right)^{(-1)^{\sigma(x)}} \right| \right\} = \exp\left\{ \left| (-1)^{\sigma(x)} \cdot \ln\frac{x}{y^p} \right| \right\}$$
$$= \exp\left\{ \left| \ln\frac{x}{y^p} \right| \right\}.$$

Also, we have

$$\exp\left\{\left|\ln\frac{x}{y^{p}}\right|\right\} = \exp\left\{\left|\ln\frac{x}{y}\right|\right\}$$
$$\left|\ln\frac{x}{y^{p}}\right| = \left|\ln\frac{x}{y}\right|$$
get

and so we get

or

$$\ln \frac{x}{y^p} = -\ln \frac{x}{y}.$$

 $\ln \frac{x}{y^p} = \ln \frac{x}{y}$

But the second equality is impossible since

$$\Rightarrow \ln x - \ln y^p = -\ln x + \ln y$$
$$\Rightarrow 2\ln x = \ln y^p + \ln y$$
$$\Rightarrow \ln x^2 = \ln y^{p+1}.$$

which gives if p = -1, x = y and if p = 1, x = y which is a contradiction. Thus; we get

$$\Rightarrow (-1)^{\sigma(y) - \sigma(x)} = 1$$

$$\Rightarrow \sigma(y) - \sigma(x) = 0$$

$$\Rightarrow \sigma(x) = \sigma(y)$$

Therefore, the function $\sigma(x)$ be as follows;

$$\sigma(x) = \sigma$$
 ($\sigma = 0, 1$), for every $x \neq 1$

Finally, since

$$\varphi_{\nu}(x) = x^{(-1)^{\sigma}}.c$$

and $\varphi_{\nu}(1) = c$ we get x = 1.

Theorem 6. Let $x \in \mathbb{R}_{\nu}$ and let φ_{ν} be a ν -isometry. Then, there are some $c \in \mathbb{R}_{\nu}$ such that

$$\varphi_{\nu}(x) = x \dot{+} c$$

or

$$\varphi_{\nu}(x) = c \dot{-} x \; .$$

Proof. Since φ_{ν} is a ν -isometry, then the function $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is a isometry. Thus, we have $(\nu^{-1} \circ \varphi_{\nu} \circ \nu) (\nu^{-1}(x)) = \nu^{-1}(x) + d$ or $(\nu^{-1} \circ \varphi_{\nu} \circ \nu) (\nu^{-1}(x)) = -\nu^{-1}(x) + d$ for some $d \in \mathbb{R}$. Let $d = \nu^{-1}(c)$. Then, we get

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}(x)\right) = \nu^{-1}(x) + \nu^{-1}(c)$$
$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu}\right)(x) = \nu^{-1}(x) + \nu^{-1}(c)$$
$$\Rightarrow \nu\left(\left(\nu^{-1} \circ \varphi_{\nu}\right)(x)\right) = \nu\left\{\nu^{-1}(x) + \nu^{-1}(c)\right\}$$
$$\Rightarrow \varphi_{\nu}(x) = x \dot{+} c$$

or

$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu} \circ \nu\right) \left(\nu^{-1}(x)\right) = -\nu^{-1}(x) + \nu^{-1}(c)$$
$$\Rightarrow \left(\nu^{-1} \circ \varphi_{\nu}\right)(x) = \nu^{-1}(c) - \nu^{-1}(x)$$
$$\Rightarrow \nu \left(\left(\nu^{-1} \circ \varphi_{\nu}\right)(x)\right) = \nu \left\{\nu^{-1}(c) - \nu^{-1}(x)\right\}$$
$$\Rightarrow \varphi_{\nu}(x) = c \dot{-} x$$

which completes the proof.

Theorem 7. If the function φ_{ν} is an ν - isometry, then its inverse is an ν - isometry.

Proof. Since φ_{ν} is a ν -isometry, then $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is an isometry. Since the inverse of isometry is also isometry; $(\nu^{-1} \circ \varphi_{\nu} \circ \nu)^{-1} = \nu^{-1} \circ \varphi_{\nu}^{-1} \circ \nu$ is an isometry. Thus, we get φ_{ν}^{-1} is a ν -isometry. \Box

Theorem 8. Under a ν -isometry the following is true;

a) Every ν -open interval maps to an ν -open interval of the same measure, and the endpoints of the image interval are images of the endpoints of the original interval.

b) The image of a ν --bounded set is a ν --bounded set.

Proof.

a) Let $\Delta = (a, b)_N$ be a ν -open interval. Let $\varphi_{\nu}(x) = x + c$. Then, we have $\varphi_{\nu}(\Delta) = (a + c, b + c)_N$. Thus, we get

$$m_N \varphi_{\nu}(\Delta) = m_N (a \dot{+} c, b \dot{+} c)_N$$

= $(b \dot{+} c) \dot{-} (a \dot{+} c)$
= $\nu \{ \nu^{-1} (b \dot{+} c) - \nu^{-1} (a \dot{+} c) \}$
= $\nu \{ \nu^{-1} (\nu (\nu^{-1} (b) + \nu^{-1} (c))) \}$
= $\nu \{ \nu^{-1} (b) + \nu^{-1} (c) - \nu^{-1} (a) - \nu^{-1} (c) \}$
= $\nu \{ \nu^{-1} (b) - \nu^{-1} (a) \}$
= $b \dot{-} a$
= $m_n \Delta$.

Let $\varphi_{\nu}(x) = \dot{c-x}$. Then $\varphi_{\nu}(\Delta) = (\dot{c-b}, \dot{c-a})_N$.

thus, we get

$$\begin{split} m_N \varphi_{\nu}(\Delta) \\ &= (c \dot{-} a) \dot{-} (c \dot{-} b) \\ &= \nu \{ \nu^{-1} (c \dot{-} a) - \nu^{-1} (c \dot{-} b) \} \\ &= \nu \{ \nu^{-1} (\nu (\nu^{-1} (c) - \nu^{-1} (a))) \\ &- \nu^{-1} (\nu (\nu^{-1} (c) - \nu^{-1} (b))) \} \\ &= \nu \{ \nu^{-1} (c) - \nu^{-1} (a) - \nu^{-1} (c) + \nu^{-1} (b) \} \\ &= \nu \{ \nu^{-1} (b) - \nu^{-1} (a) \} \\ &= b \dot{-} a \\ &= m_n \Delta. \end{split}$$

In both cases, we get

$$m_N \varphi_{\nu}(\Delta) = b \dot{-} a = m_n \Delta$$

b) Let E be a ν -bounded set and let Δ be a ν -open interval contaiing the set E. Then, we have

$$\varphi_{\nu}(E) \subset \varphi_{\nu}(\Delta)$$

and so the set $\varphi_{\nu}(E)$ is a ν -bounded. Indeed, Since *E* is ν -bounded, we have $|x|_N \leq k$ for every $x \in E$. Then, for every $y \in \varphi_{\nu}(E)$, if $\varphi_{\nu}(x) = x + c$, then

$$|y|_N = |x + c|_N \leq |x|_N + |c|_N < k + |c|_N$$

and if $\varphi_{\nu}(x) = c - x$, then

$$|y|_{N} = |\dot{c} - x|_{N} = |\dot{x} - c|_{N} \cdot |x|_{N} + |c|_{N} < k + |c|_{N}.$$

which gives that the set $\varphi_{\nu}(E)$ is ν -bounded.

Theorem 9. Under a ν -isometry the following properties are true;

- a) The image of a ν --closed set is a ν --closed set.
- b) The image of a ν --open set is a ν --open set.

Proof.

a) Let $\varphi_{\nu}(F)$ be the image of ν -closed set F. Let y_0 be a ν -limit point of the set $\varphi_{\nu}(F)$ and let y_n be a sequence such that

$${}^{\nu}\lim y_n = y_0 \qquad \qquad y_n \in \varphi_{\nu}(f_{\nu}).$$

Also, let define

$$x_0 = \varphi_{\nu}^{-1}(y_0), \quad x_n = \varphi_{\nu}^{-1}(y_n)$$

and so $(x_n) \subset F$.

Since φ_{ν} is a ν -isometry, φ_{ν}^{-1} is a ν -isometry. Thus, we have

$$\Rightarrow |x_n - x_0|_N = |\varphi_\nu^{-1}(y_n) - \varphi_\nu^{-1}(y_0)|_N$$
$$\Rightarrow |x_n - x_0|_N = |y_n - y_0|_N$$

and so

$$x_n \stackrel{\nu}{\to} x_0.$$

$$= m_N(c-b, \dot{Since}^n F \text{ is a } \nu-\text{closed}, x_0 \in F \text{ and thus}$$

$$y_0 = \varphi_{\nu}(x_0) \in \varphi_{\nu}(F).$$

which completes the proof.

b) Let G be a ν -open set and let define

 ν -closed. This completes the proof.

$$F = G^c$$

Then, F is a ν -closed set and

$$G \cup F = \mathbb{R}_{\nu}, \quad G \cap F = \emptyset.$$

Thus, we get

$$\varphi_{\nu}(G \cup f_{\nu}) = \varphi_{\nu}(\mathbb{R}_{\nu}), \quad \varphi_{\nu}(G \cap f_{\nu}) = \varphi_{\nu}(\emptyset)$$
$$\varphi_{\nu}(G) \cup \varphi_{\nu}(f_{\nu}) = \mathbb{R}_{\nu}, \quad \varphi_{\nu}(G) \cap \varphi_{\nu}(f_{\nu}) = \emptyset.$$
which shows that $\varphi_{\nu}(G)$ is complement of $\varphi_{\nu}(F)$

Theorem 10. The ν -measure of a ν -bounded open set is invariant under all ν -isometries.

Proof. Let G be a ν -bounded open set. Then, $\varphi_{\nu}(G)$ is a ν -bounded open set. Let $\delta_k = (a_k, b_k)_N$ (k = $1, 2, \cdots$) and let define

$$G = \bigcup_k \delta_k.$$

Thus, we have

$$\varphi_{\nu}(G) = \varphi_{\nu}\left(\bigcup_{k} \delta_{k}\right) = \bigcup_{k} \varphi_{\nu}(\delta_{k}).$$

Therefore, we get

$$m_N \varphi_{\nu}(G) =_N \sum_k m_N(\varphi_{\nu}(\delta_k))$$
$$=_N \sum_k m_N \varphi_{\nu}((a_k, b_k)_N)$$
$$=_N \sum_k b_k \dot{-} a_k$$
$$=_N \sum_k m_N \delta_k$$
$$= m_N G.$$

This gives that

$$m_N \varphi_{\nu}(G) =_N \sum_k m_N \varphi_{\nu}(\delta_k)$$
$$=_N \sum_k m_N \delta_k$$
$$= m_N G.$$

Ó

Theorem 11. ν -isometries do not change the ν -outer and ν -inner measures of a ν -bounded set. *Proof.*

a) Let E be a ν -bounded set. For every $\epsilon \dot{>} \dot{0}$, there is a ν -bounded open set G such that

$$G \subset E, \quad m_N G \dot{<} m_N^* E \dot{+} \epsilon.$$

Then, $\varphi_{\nu}(G)$ is ν -bounded open set containing the set $\varphi_{\nu}(E)$. Thus, we get

$$m_N^*\varphi_\nu(E) \dot{\leq} m_N \varphi_\nu(G) = m_N G \dot{<} m_N^* E \dot{+} \epsilon$$

which gives

$$m_N^* \varphi_{\nu}(E) \dot{\leq} m_N^* E.$$

This shows that the ν -outer measure of a ν -bounded set does not increase under a ν -isometry. Otherwise, the ν -inverse isometry is non-decreasing since it leads to an increase in the ν -outer measure. Therefore we get

$$m_N^*\varphi_\nu(E) = m_N^*E.$$

b) Let Δ be a ν -open interval containing E. Then, $\varphi_{\nu}(\Delta)$ is a ν -open interval containing $\varphi_{\nu}(E)$. Let

$$A = C_{\Delta}^E.$$

Since we have

$$E \cup A = \Delta, \quad E \cap A = \emptyset$$

 $\varphi_{\nu}(E) \cup \varphi_{\nu}(A) = \varphi_{\nu}(\Delta), \quad \varphi_{\nu}(E) \cap \varphi_{\nu}(A) = \emptyset.$

Thus, we write

$$m_N^*\varphi_\nu(A) \dot{+} m_{*N}\varphi_\nu(E) = m_N\varphi_\nu(\Delta)$$

and so

$$m_N^* A \dot{+} m_{*N} \varphi_\nu(E) = m_N \Delta$$

This shows that

$$m_{*N}\varphi_{\nu}(E) = m_N \Delta \dot{-} m_N^* \left[C_{\Delta}^E \right].$$

Finally, we get

$$\Rightarrow m_{*N}\varphi_{\nu}(E) = m_{N}^{*} \left[C_{\Delta}^{E} \right] \dot{+} m_{*N} E \dot{-} m_{N}^{*} \left[C_{\Delta}^{E} \right]$$
$$\Rightarrow m_{*N}\varphi_{\nu}(E) = m_{*N} E.$$

3 Conclusion

In this article, we have introduced ν -isometry and gave some of its properties using examples. First, we showed that the necessary and sufficient condition for the function φ_{ν} to be a ν -isometry is that the function $\nu^{-1} \circ \varphi_{\nu} \circ \nu$ is a real isometry. Using this theorem, we showed that the inverse of a ν -isometry is a ν -isometry. Finally, we show that the ν -measure of ν -measurable sets is invariant for every generator under ν -isometries. References:

- Grossman M., The first nonlinear system of differential and integral calculus, Galileo Institute, 1979.
- [2] Grossman M., Bigeometric Calculus: A System with a Scale Free Deriative, 1 st ed., Archimedes Foundation, Rockport Massachussets, 1983.
- [3] Grossman M., Katz R., Non-Newtonian calculus, 1 st ed., Press, Piagen Cove Massuchusets, 1972.
- [4] Grossman J., 1981. Meta-Calculus: Differential and Integral, 1st ed., Archimedes Foundation, Rockport Massachussets.
- [5] Bashirov A. E., Misirli Kurpinar E., Ozyapici A., Multiplicative calculus and its applications, Journal of Mathemtical Analysis and Applications, 337, 36-48, 2008.
- [6] Duyar C., Sağır B., Oğur O., Some basic topological properties on non-Newtonian real line, British Journal of Mathematics and Computer Science, 9(4), 300-307, 2015.v
- [7] Duyar C., Sağır B., Non-Newtonian comment of Lebesgue Measure in Real numbers, Journal of Mathematics, Article ID 6507013, 1-4, 2017.
- [8] Oğur O., Demir S., On non-Newtonian measure for β-closed sets, NTMSCI 7, No. 2, 202-207 (2019)
- [9] Duyar C., Erdoğan M., On Non-Newtonian Real Number Series, IOSR Journal of Mathematics, 12:6, IV, 34-48, doi: 0.9790/5728-1206043448, 2016.
- [10] Erdoğan F. N., Newtonyen Olmayan Reel Sayılarda Fonksiyon Dizileri ve Serileri, Ondokuz Mayıs Üniversitesi, Fen Bilimleri Enstitüsü, Samsun, Yüksek Lisans Tezi, 2016.
- [11] Erdoğan F., Sağır B., On *-Continuity and *-Uniform Continuity of Some Non-Newtonian Superposition Operators. Avrupa Bilim ve Teknoloji Dergisi, (28), 959-967, 2021.
- [12] Natanson, I. P., 1964. Theory of function of a real variable, vol 1, Frederick Ungar Publishing Co., New York, NY, USA.
- [13] Güngör, N., "Some geometric properties of the non-Newtonian sequence spaces lp(N)" Mathematica Slovaca, vol. 70, no. 3, 2020, pp. 689-696.

- [14] Güngör, N. A note on linear non-Newtonian Volterra integral equations. Math Sci 16, 373– 387 (2022).
- [15] Sager N., Sağır B., Some inequalities in quasi-Banach algebra of non-Newtonian bicomplex numbers. Filomat, 35(7), 2231-2243, 2021.
- [16] Sağır B., Erdogan, F., On non-Newtonian power series and its applications. Konuralp Journal of Mathematics, 8(2), 294-303, 2020.
- [17] Türkmen C., Başar F., Some basic results on the sets of sequences with geometric calculus, First International Conference on Analysis and Applied Mathematics, Gumushane, Turkey, 18-21 Ekim, 2012.
- [18] Uzer A., Multiplicative type complex calculus as an alternative to the classical calculus, Computers and Mathematics with Applications, 60, 2725-2737, 2010.
- [19] Erdoğan M., Duyar C., Non-Newtonian generating functions, Annal. Biostat. and Biomed. Appli., 4(5), 2022.
- [20] Torres DFM., On a Non-Newtonian Calculus of Variations. Axioms. 10(3):171, 2021.
- [21] Çakmak A. F., Başar F., Some new results on sequence spaces with respect to non-Newtonian calculus, Journal of Inequalities and Applications, 228, 1-12, 2012.
- [22] Oğur O., Demir S., Newtonyen Olmayan Lebesgue Ölçüsü, Gümüşhane Üniversitesi Fen Bilimleri Dergisi, 10(1), 134-139(2019)

[23] Demir S., Reel Sayılarda Newtonyen Olmayan Lebesgue Ölçüsünün Bazı Özellikleri, Giresun Üniversitesi, Fen Bilimleri Enstitüsü, Giresun, Yüksek Lisans Tezi, 2019.

Contribution of individual authors to the creation of a scientific article (ghostwriting policy)

The authors equally contributed in the present research, at all stages from the formulation of the problem to the final findings and solution.

Sources of funding for research presented in a scientific article or scientific article itself

No funding was received for conducting this study.

Conflicts of Interest

The authors have no conflicts of interest to declare that are relevant to the content of this article.

Creative Commons Attribution License 4.0 (Attribution 4.0 International, CC BY 4.0)

This article is published under the terms of the Creative Commons Attribution License 4.0

https://creativecommons.org/licenses/by/4.0/deed.en_US